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A 12-V battery, a 12-ohm resistor and a 4-ohm resistor are connected as shown.

The voltage drop across the 12-ohm resistor is that across the 4-ohm
resistor.
a.1/3
12V =/ 2n 10 b. 1/2
c.2/3

d. the same as

Ao csnse y b \PS e. 1.5 times
f. twice

\ollewe dleps

9/27/24

h. four times

A 12-V battery and a 12-ohm resistor are connected as shown in circuit.
A 6-ohm resistor is added to the 12-ohm resistor to create circuit Y as shown.

The voltage drop across the 6-ohm resistor in circuit Y is that across the
resistor in X. —
Cirauit X Cirauit Y
RV = 12a RV = 12a 60

a. larger than

b. smaller than

c. the same as

C Q) (o @v&t‘ﬂs pmrc/,)lc\ 0 ¢
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For the circuit shown, thé current oué of the batteryDiS 4 A and the current that passes through the 6 Q
...

resistoris 1 A $
battery

combimeMoyn  crondl: — s Parakel :
\J =\, =V, =V
Beries and povre;ned baty= Ny = V2 =)
Circwil Tioterg = L #3133
Ry=_ \
R 32 I e |
R a—-z, Q.3
What is the current that passes through R;?
’/ What is the resistance of R;Z_ 1,
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What is the current that pas;es through R
T y=-

If the battery voltage is 48 V, what is resistance of R;,?
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For the circuit shown, the current through the branch with the 1Q and 2Q resistors is 4 A,

and the current out of the node is 6A ‘(LB w}{
12 29 T < e
-

4 A ‘ v %
Qq/sa {2/@% \,(b

-~

N2, ~
R1
| | -
| ! Q
What is the current that passes through the 6Q resistqr=
W the battery voltage is 24 V, what is resistance of R,?
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3500

:Questions
B .Calculate the total resistance of the circuit Rt .1 |~
o .Find the total current supplied by the battery It .2
.Determine the voltage across R1(VR1) .3 7/
.Calculate the current through each resistor (12, 13, 14, 15) .4

R1=15
o R2=30
- R3=20
o R4 =45
- R5=35

R Battery voltage V=24
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